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SOLVED PAPER

UTTAR P'RADESH POLICE CONSTABLE EXAM

Held on : 27.01.2019 (Shift-1)

GENERAL AWARENESS

1. The assembly of which Indian
state was dissolved in Novem-
ber 20187
(1) Himachal Pradesh
(2) Jammu and Kashmir
(8) Uttarakhand
(4) Punjab

2. The aorta begins at the top of
the i .

(1) right ventricle
(2) left ventricle
(3) right atrium
(4) left atrium

3. Galvanising means covering
steel with a thin layer
of 3
(1) Chromium  (2) Zinc
(2) Aluminium  {4) Nickel

4. C60 is a molecule that consists

of 60 carbon atoms, arranged |

as ;

(1) 15 pentagons and 18 hexa-
gons.

{2) 18 pentagons and 15 hexa-
gons.

(3) 12 pentagons and 20 hexa-
gons.

(4) 20 pentagons and 12 hexa-
gons.

5. The best-quality hard coal that
contains 80% to 95% carbon
is :
(1) peat (2) lignite
{3) bituminous
(4) anthracite

6. All of the following are conden-
sation polymers EXCEPT

(1) polyester

{2) polypropylene

(3) Polyamide

(4) polycarbonate -

7. Indian Institute of Technology,

"Kanpur, has set up an office
in, with alumnus Sanjiv
Khosla designated as the over-
seas brand ambassador of the
institute.

'10.

11.

12.

13.

14.

(1) Dubai (2) London
(3) Singapore (4) New York

. The Physical Efficiency Test for

recruitment of constable civil
police by Uttar Pradesh Police
Recruitment and Promotion
Board requires male candi-
dates to run

(1) 4.8 km in 25 minutes

(2) 3.8 km in 25 minutes

(3) 4.8 km in 35 minutes

(4) 3.8 km in 35 minutes

. Who was sworn in as the Gov-

ernor of Uttar Pradesh on
29nd July, 20147?

(1) Surya Pratap Shahi

(2) Brijesh Pathak

{3) Ram Naik

(4} Ashutosh Tandon

Which Uttar Pradesh district
is also known ns ‘Pital Nagari?
{1) Fatehpur

(2) Muzaffarnagar

(3) Mirzapur

{4) Moradabad

At the battle of Bahadurpurin
1658, Shah Jahan's second
son Shah Shuja was defeated
by Shah Jahan’s grand-
som___.

(1) Murad Baksh

(2) Sulaiman Shikch

(8) Alam Shah

{4) Bahadur Shah

Firozabad has been prod-
ucing for more than 200
years.

(1) chikankari works

(2) glass bangles

(3) brass locks

(4) zardozi embroidery

Which Kathak gharana fo-
cuses more on the spiritual
aspects of the dance form?
(1) Jaipur (2) Banaras

(3) Lucknow (4) Bareilly
According to Hindu legend,
the divine king Rama of the
Ramayana epic reigned in
Ayodhya, the capital of, .
(1) Hastinapur

(2) Kum

(3) Kalinga (4) Kosala

15.

16.

17.

18.

19.

20.

21.

Which Indian has won the
Nobel Memorial Prize in Eco-
nomics?
(1) C.V. Raman
(2) Amartya Sen
(3) Kailash Satyarthi
(4) Har Gobind Khorana
What is the title of the auto-
biography written by Indian
boxer M.C. Mary Kom?
(1) Playing to Win
(2) Unbreakable
(3) No Holding Back
(4) Imperfect
Which film won the Best Popu-
lar Film award at the 65th
National Film Awards?
(1) Baahubali 2: The Concl-

usion ¢
(2) Secret Superstar
(3) Jolly LLB2
(4) Hindi Medium
The 2018 Nobel Prize for Eco-
nomic Sciences was awarded to
William D. Nordhaus and Paul
M. Romer, both of whom are
from if
(1) United States of America
(2) United Kingdom
(3) Canada
(4) Australia

is the fraudulent act

of acquiring private and sen-
sitive information, such as
credit card numbers, personal
identification, and account
usernames and passwords.
(1) Malware (2) Trojan
(2) Hacking  (4) Phishing
The Chitrakote Falls are situ-
ated in which state of India?
(1) Jharkhand
(2) Uttarakhand
(3) Chhattisgarh
{(4) Meghalaya
Capital city of Venezuela
is i
(1) Nicosia
(2) San Salvador
(3) Quito
(4) Caracas
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22. India has the world's largest
reserves of which of the fol-
lowing radioactive metals? (1)

Uranium (2) Radium

(3) Bismith (4) Thorium
23. Name the only island state of

Australia.

(1) Capri (2) Ibiza

(3) Tasmania (D) Rhodes

24. Which of the following cities
is NOT situated on the banks
of the Godavari river?

(1) Nashik (2 Navsari
(3) Nanded  (4) Nizamabad

25. Who became the President of
India after the tenure of
Neelam Sanjiva Reddy?

(1) Fakhruddin Ali Ahmed

~ (2) Varahagiri Venkata Giri
(3) Giani Zail Singh
{(4) Mohammad Hidayatullah

26. Name Chandragupta’s som,
who reigned between 298-272
BC and extended the empire
throughout the whole of India.
(1) Harshavardhan
(2) Aniruddha
(3) Bindusara
{4) Vasudeva ;

27. The traditional dress worn by
the women of is called
Mekhela Chador.

(1) Gujarat (2) Tamil Nadu
(3) Goa (4) Assam

28. Rabindra Nath Tagore wrote
the National Anthem of which
of the following ‘countries?
(1) China (2) Myanmar
(3) Bhutan (4) Bangladesh

29, Varghese Kurien was named
the Chairman of the National
Dairy Development Board
(NDDB), by ;

(1) Lal Bahadur Shastri
(2) Gulzarilal Nanda
(3) Indira Gandhi

(4) VV Giri

30. How many parts does the -

dian Constitution currently

have?
(1) 15 (2) 20
(3) 25 (4) 30

31. The Mughal emperor Jahangir
built the Shalimar Garden

b 0 R A T
(1) Delhi (2) Baluchistan
(3) Oudh (4) Kashmir

32. The annual Indian Classical
music festival Sawai andharva
BhimsenMahotsavis heldin

(1) Pune (2) Mysuru
(3) Kanpur  (4) Udaipur
33. Which among the following is
the oldest public sector bank
in India?
(1) Bank of India?
{2) Bank of Baroda
3) Allahabad Bank
(4) UCO Bank

34. Vedic civilisation flourished |

along the river i
(1) Godavari (2) Cauvery
(3) Krishna (4) Saraswati
35. Which international organi-
sation was conceived in July
1944 at the United Nations
Bretton Woods Conference?
(1) World Trade Organization
(2) United Nations Interna-
tional Children’s Emerg:
ency Fund (UNICEF)
World Bank
International Monetary
Fund
India’s first engine-less speed
train, Train- 18 was developed
by the Intergral Coach
Factory.
(1) Chittaranjan
(2) Patiala
(3) Chennai
{4) Kapurthala
India signed a $500 million
deal with which country in
November 2018 to locally
manufacture two stealth frig-
ates?
(1) The United States of
America
(2) Russia
(3) Israel (4) Japan
38. The Sardar Vallabhbhai Patel
National Police Academy
(SVPNP4) is locatednear_ .
m Hyderabad
(2) Pune (3) Bhopal
(4) Chandigarh

(3)
(4)

36.

37.

NUMERICAL ABILITY

39. A sum of money invested at
compound interest amounts
to Rs. 1,600 in 2 years and Rs.
1,680 in 3 years. Find the rate
of interest.

(1) 5% (2) 6%
(3) 5.5% (4) 6.5%

40. How much will Rs. 25,000 in-
vested at compound interest
amount to in 1 year at 4% per

41.

42,

43.

44,

45.

46.

47

annum compounded half
yearly ?

(1) Rs. 25,980

(2) Rs.26,010

(3} Rs. 26,100 .

(4) Rs. 26,001

A began a business with Rs.
75,000. B joined after some-
time with Rs. 37,500. After
how many months did B join
if the profits are shared in the
ratio 3 : 1 at the end of the

year ?

(14 (2)5

3)6 @7

The marks of a student were

entered as 88 instead of 68.
Due to this, the average marks
of the class increased by 0.5.
What is the number of stu-
dents in the class?

(1) 10 (2)20
(3) 30 (4) 40
A is twice as efficient as B, who

is thrice as efficient as C. If C
alone can complete the task
in 30 days, then in how many
days can they together com-
plete the task?

M3 (2)4

(3) 5 (4)6

An aeroplane covers a certatn
distance at a speed of
250 km/h in 4 hours. To cover
the same distance in 1 hour
and 40 minutes, what should
be its speed?

(1) 500 kmph.

{2) 550 kmiph.

(3) .600 kmph.

(4) 675 kmph.

Excluding stoppages, a bus
covers 45 km in an hour, and
including stoppages, it covers
36 km. For how many minutes
does the bus stop in an hour’

(1) 10 (2) 10.8
(312 (4) 12.5
The ratio of the léngth an

breadth of a rectangle is 5 :
and its area is 6,750 cm®. Fin
the ratio of the length to th
area of the rectangle :

(1 1:80 (2)1:84

(3) 1:100 (4)1:90

. Find the product of the su:

of digits of the smallest 4-dig
number divisible by 11 and th
sum of the digits of smalle
4-digit number divisible by 1
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(11 22
(314 4) 6
48, The smallest 3-digit number
divisible by 13 is divided by 16.
Find the remainder.
(1)4 (2)5
(316 48
49, The square root of 6,561 is
calculated. This number is di-
vided by its own square root.
Find the result.
(13 (2)9
(3) 27 (4) 81
50. The diameter of a circle is
doubled. By how much does
the area increase?
(1) 2 times  (2) 4 times
(3) 8 times  (4) 16 times
51. X has a balance of Rs. 86.54
in the bank account. What
will be the balance after a de-
posit of Rs. 55.31 and a with-
drawal of Rs. 84.33 are made?
(1) Rs. 57.52 (2) Rs. 58.52
(3) Rs. 57.58 (4) Rs. 58.58
52. A number is multiplied by
3,003 and then divided by the
LCMof 7, 11 and 13 and then
divided by itseli. Find the re-

sult.
1 (2)2
3)3 4) 4

53, If (10x+ 5) : (42x+ 8) is the trip-
licate ratio for 5 : 8, find ».

(1) 1,000 (2) 1,331
(3) 1,728 (4) 2,197
54. Find a quarter of 40% of the
square of 40.
(1) 120 (B) 140
(3) 160 (4) 180

55. If the selling price is tripled,
the profit goes up to 5 times,
Find the profit. .

(1) 80% (2) 100%
(3) 125% (4) 150%

56. X buys a scooter for Rs.
42.000. He spends Rs. 6,000
on repairs and sells the
scooter for Rs. 54,000. What

is his gain?
(1) 10% (2) 12.5%
(3) 15% (4) 17.5%

57. An article costing Rs. 110 was
sold for Rs. 104.5. How much
discount was offered?

(1) 4% (2) 5%
(3) 6% (4) 7%

MENTAL APTITUDE, IQ
&REASONING ABILITY

58. Which of the words CANNOT
be formed by the letters of the

word “FLAMBOYANT"?
(1) LAMB (2) BOUT
(3) MOAN (4) BOAT

59, Which -of the following words
has its letters in an alphabeti-
cal order? '

(1) Shade (2) Heart
(3) Billow (4) Charge

60. Select the related word from
the given alternatives :
Deer : Fawn :: Horse : ?
(1) Lamb (B)Foal
(3) Calf (4) Toad

61. Each one of the following op-
tions consists of pairs of
words. Choose the best pair to
match with the pair in the
question,

Run : Walk

(1) Heavy Rain : Drizzle
{2) Jog: Run

(3) Dive: Swim

(4) Bounce: Gallop

62. Select the related letters from
the given alternatives.
EH:VS:MJ:?

(1) 0Q {(2) NR
(3) @M (4) NQ

63. Find the alternative that can
be a member of the given
group/class.

Lock, Block, Fasten
(1) Open (2) Window
(3) Shut (4) Door

64. Find the missing Number :
1,4, 27, 256, _

(1) 3,125 (2) 625
(3) 720 (4) 2,500

65. Find the missing numbers {X
and Y) in the series and find
the value of Y + X :

20, 22, 24, 26, X, 32, 36, Y
(162 (2) 64
(3) 66 (4)68

66. Find the pair of the numbers

that would fit into the pat-

tern :

11,121,1331, 146 41,?
(1) 161 051.  (2) 161 050
(3) 160051 (4) 160 050

67. Which of the following series
is built on the same logic as :
G.LEK MO

68.

69.

70.

71.

72.

73.

74.

(X Z B,DF

(2)X,Y.B, D, E

(3PS U VW

4 KLNQS

Fill the missing value in this
series .

AlC, E4H, 19M, M16R,

(1) 125K (2) Q25W

(3) M36J -(4) @36X
Which pair in the options will
complete the following series :
AFCR. LT

(1) Q.Y (2) Q. Z
@PrY 4P Z

Four friends live in a locality.

A’s house is to the west of B.
B’s house is to the south of C
and C’s house is to the east
of D. In which direction is B’s
house as to D?
(1) North-East
(2) South-East
(3) North-West
(4) South-West
Y walked 6m west, turned
right and walked 8m. What is
the shortest distance he needs
to travel to go back to his
starting point?

(1) 6 m (2) 8m
(3) 14 m (4) 10 m
Village A is to the west of Vil--

lage B which is to the south
of Village C which is to the
west of Village D. In what di-
rection is Village A as to Vil-
lage D?

(1) North-East

(2) South-East

(3) North-West

(4) South-West

X walked 15m south, turned
left 15m and turned left and
walked for 15m. How far and
in which direction is he from
the starting position?

(1) 15 m north

(2) 15 m east

(3) 15 m south

(4) 15 m west

In this question one state-
ment is given, followed by two
Conclusions-I and II. You have
to consider the statement to
be true even if it seems to be
at variance from commonly
known facts. You have to de-
cide which of the given Con-
clusions, if any, follows from
the given statements.
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Statement :

No country is absolutely self
dependent these days.
Conclusions :

I. It is impossible to grow and
produce all that a country
needs.

II. Countrymen in general have
become lazy.

(1) Only Conclusion I follows.
(2) Only Conclusion II follows.
(3) Both I and II follow.
(4) Neither I nor II follows.
75.In this question one state-
ment is given, followed by two
arguments, I and II. You have
to consider the statement to
be true even if it seems to be
at variance from commonly
known facts. You have to de-
cide which of the given argu-
ments, if any, supports the
given statement.
Statement : Should new big
industries be started in Delhi?

Arguments :
I. No, it will add to the city’s
pollution.
I. Yes, it will provide employ-
ment opportunities.

(-
M
i)

Only argument [ is strong

Only argument Il is strong

Both arguments I and 1I

are strong

Either argument I or II is

strong

76. In this question two state-
ments are given, followed by
three Conclusions, I, lTand Il
You have to consider the state-
ments to be true even if they
seem tobe atvariancefromcom-
monly known facts. You have
to decide which of the given
Conclusions, if any, supports
the given statements.
Statements :

I. Many business offices are
located in buildings hav-
ing 2 to 8 floors.

II. If a building has more
than 3 floors, it has a lift.

Conclusions :

I. Al floors may be reached
by lifts.

II. Only floors above the 3rd

floors have lifts.
7th floors have lifts.

(4)

III.

77.

78.

79.

80.

81.

(1) Only Conclusion I follows.
(2) Only Conclusion II follows.
(3) Only Conclusion III follows.
(4) All three follow.

Choose the figure which is dif-
ferent from the rest.

B Y X'g Y
[I]NIX&)ZSH
051 2 N O I
X T2 Qg 8 X
{S}NQS[4}YON
HY O 1 H Z

Select the related word from
the given alternatives :

Gan : Bullets:: Torch : ?

(1) Fire

(2) Batteries

(3) Darkness

(4) Candle

Select the related number from
the given alternatives.

125, 3:5::14641,4:7
(111 (2)6

(3) 4 414

From the given answer figures,
select the one in which the
question figure is hidden/
embedded.

Question Figure:

Answer Figures:

(1 2

(3) (4)

Which answer figure will com-
plete the pattern in the ques-
tion figure? :
Question Figure :

=

=

Answer Figures :

% 2} .
R

(UCSE_116 |
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(1)

(3 (4)

82, Which of the following answer
figure patterns can be com-
bined to make the question
figure?

Question Figure :

°FF
e

@ Eﬁjmgﬁg

Which of the following cubes
in the answer figures CANNOT
be made on the basis of the
unfolded cube in the question
figure?

Question Figure :

83.

= [oH

Answer Figures :

7

o110 @

N

O

L4
N
d

(3 4)

Directions (84-86): Read the
following information to.answer the
given questions : )

Following are the conditions for
becoming a judge in a singing con-
test TV show.

(A) The person should have
won at least one award in
singing or music.

(B) The person should have
worked in the music indus-
try for at least 10 years.

(C) The person should be able
to speak at least 3 lan-
guages.

(D) The person should be will-
ing to donate at least 10%
of his/her annual income
to the contest winner.

Wi Bl |
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(E) The person should NOT be
younger than 35 years and
neither be older than 70
years. :
However, in case a candi-
date who fulfils all other
criteria EXCEPT-

(1) B above; if the person does
NOT fulfil this criteria then his
application will be kept on
hold.

(2} D above; if the person has do-
nated 50% of his annual in-
come any one time in his/her
life then he is exempted from
this condition.

(3) E above; if the person does
NOT fulfil this criteria but ful-
fils all other criteria then his
application will be kept on
hold.

Based on these criteria and in-

formation provided below, de-

cide the course of action in

each case. You are NOT to as-
- sume anything.

84. Person A is 40 years old and
is willing to donate 10% of his
annual income to the contest
winner. He has won 3 awards
in his 15 years of experience
in the music industry and can
speak in Hindi and English
only.

(1) Made a judge

(2) Not made a judge

(3) Application kept on hold
(4) Data inadequate

85. Person B is willing to donate
5% of his annual income to
the contest winner. He has
worked in the music industry
for 30 years since he entered
it in his teenage days. He can
speak in Hindi, English, Tamil
and his mother tongue. He
had donated Rs. 7 lakh for
flood relief in 2016 when his
annual income was Rs. 12
lakh. '

(1) Made a judge

(2) NOT made a judge

(3) Application kept on hold
(4) Data inadequate

886. Person C has won 5 awards in
her 25 years of experience in
the music industry. She had
donated her entire annual in-
come in 2017 for earthquake

relief. She is fluent in English,

French and Hindi.

(1) Made a judge

(2} Not made a judge

(3) Application kept on hold

(4) Data inadequate 7
87. Which of the following answer

figure patterns can complete

the series given in the ques-

tion figure?

Question Figures :

AN

©
Answer Figures :

[DFY
(1) (2)

N
(3) . 4
88. Which of the following answer
figure patterns can complete
the series given in the ques-

tion figure?

=
e ]|
(]

Question Figures :
D =
o (|joAd|| H
v v

Answer Figures :

mlacO (@fobo

3 EVO @hav

89. What is the minimum num-
ber of lines required to make
the given image?

(1) 12 (2) 15
(3) 14 4) 13

90. If a mirror is placed on the line
MN, then which of the answer
figures is the right mirror im-
age of the given figure?
Question Figure :

M N
S0P

Answer Figure :

4 R
T

(3] e

91. A piece of paper is folded and
punched as shown below in
the question figures. From the
given answer figures, indicate
how it will appear when
opened.

Question Figures :

Ll

Answer Figures :

o AR oAk ©
4 b 4 N
M 7 @ v
Ca Vo o NP o
VTN o AI}.:
N i N
Br S @ ¥
%97 o o NV o

92. Arrange the following words
as per their order in an En-
glish dictionary and choose
the one that comes first.
refocus; refinery; reflexes; re-

flector
(1) refocus  (2) refinery
(3) reflector (4) reflexes

93. A series is given, with one word
missing. Choose the correct
option from the given ones
that will complete the series.
Terrain, Intuitive, Venture,
Rearrange ?

(1) Gender  (2) Virtual
(3) Strategy  (4) Suspense

94. A series is given, with one term
missing. Choose the correct
option from the given omnes
that will complete the series.
ZBA, YDC, XFE, WHG, VJL,?
(1) KLU* (2) HIJ
(3) URS (4) ULK

95. A series is given, with ore
term missing. Choose the cor-
rect option from the given
ones that will complete the
series.

EEEEEFFFFF,
FEEEEFFFFE,
FFEEEFFFEE,
FFFEEFFEEE
FFFFEFEEEE, ?
(1) FFFFEEEE
(2) EFFFFEEEEF
(3) FFFFFEEEEE
(4) FFFEFEFEEE
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96. A series is given, with one.
number missing. Choose the
correct option from the given
ones that will complete the
series.

-4.5,-2.6,-0.7,7, 3.1

(1) 1.4 (2) 1.2

3)1 (4) 1.6

If the ‘4th day of a month is
Sunday, which of the follow-
ing would be the 6th day be-
fore the 30th day of that
month?

(1) Sunday  (2) Tuesday

(8) Saturday (4) Friday

A series is given, with one term
missing. Choose the correct
option from the given ones
that will complete the series.
AlZ1, X3C3, E3V4, T9G7, ?

97.

98.

(1) H20R11 (2)I27R11
(3)127S12  (4) H20512
*. 99, In a code language, 817 means

‘cotton makes thread’, 827
means ‘thread makes cloth’
and 213 means ‘soft cotton
cloth’. Find the code for ‘soft’.
(1)3 (2) 1
32 4)7

100.In a certain code, SLOB is
written as 4379 and FATE is
written as 2685. how is LOFT
written in that code?
(1) 7539 (2) 5626
(3) 3728 (4) 2091

101.If in a certain code language,
‘+’ represents ‘%', ‘-’ represents
‘4, ‘%’ represents ‘+' and ‘+’

represents ‘-’. Find out the
answer to the following ques-
tion.

16+ 8x4-2+ 1=

(1)22 227

(8) 16 (4) 13

©.102.1f HOLIDAY is coded as
L ELIFAXV, then how will SUM

be coded as?
(1) PRJ (2) EHK
(3) LOR (4) SVY

103.If A @ B means A is the son of
B, A # B means A is the
brother of B and if A * B
means A is the mother of B,
then what does X # Y@ Z*W
mean, if Z has 2 sons and one
daughter? ‘
(1) W is the sister of X.
(2) W is the brother of X.

(3) W is the son of X.

(4) W is the daughter of X.

If P % Q means P is the father
of @, P! Q means P is the sis-

104.

ter @ and P* Q means P is the |

daughter of Q, then which of
the following shows that P is
the husband of S's sister.
(DP*Q%R!S

(2P% Q!R*S
BIP*QIR%S
WP%Q*R!S

K said to L, “You are my
husband’sson-in-law’'sdaugh-
ter.” How is L related to K?

(1) Lis the granddaughter of K
(2) L is the daughter of K

(3) L is the son-in-law of K
(4) L is the father of K

In the following figure, the
square represents democrats,
the triangle represents archi-
tects, the circle represents In-
dians and the rectangle rep-
resents fathers. Which letter/

105.

106.

set of letters represents Indi- |

ans who are democrats?

c
A
D
(HE (2) BF
(3B {4) CB

107. Which of the following Venn
diagrams best represents the
relationshipbetweentriangles,
hexagons and geometrical fig-

ures?

-
3) (4)

108. A lady participated in a six-
month programme to lose
weight. She weighed 100kgbe-
fore starting the programme.
The line graph shows herweight
in kg at the end of each month.
In how many months did she
gainweightinsteadof losingas
compared to the previous
month?

_(uc<E-118 |
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100
. 90
%= 80 9 g7 89
=D s 82 s
= 50
40
© 30
= 30
10
o 1 T 2 T 3 1 4 1 5 1 6 1
End of month
1t (2) 3
(3)2 (4) 4

109. The bar graph shows the num-
ber of visitors to a museum for
different days of the week. The
number of visitors on Satur-
day was less than the number
of visitors on Thursday
by, %.

Mon ' Tue ' Wed Thu Fri = Sat

(1) 300 (2) 200

(3) 60 (4) 50
. 110.Item A takes 12 hours and
! Item B takes 15 hours to be
prepared using a lathe ma-
chine.
Drilling time for Item A is less
than the drilling time for Item
‘B by. %

(1) 25 (2) 66.67
(3) 39.39 (4) 100
111. Which word does NOT belong
with the others?
(1) Run '
(2) Sleep
(8) Jog
(4) Walk
112. Find the odd letters from the
given alternatives :
(1) LKEM (2) EDC
(3) IHG (4) SR@
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113. Chodse the figure which is
different from the rest.
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= ANSWERS =

1. (2) 2.(2) 3.(2) 4. (3)
5.(4) 6. (2) 7.(4) 8. (1)
9.(3)| 10.4) | 11.(2) 12. (2)

13.

(1)] 14.(4)| 15.(2)| 16.(2)

17.(1) | 18.(1)| 19.(4)]| 20.(3)
21.(4) | 22.(4)| 23.(3)] 24.12
25.(3) | 26.(3)| 27.(4)| 28.(4)
29.(1) | 80.(3)| 31.(4)| 32.(1)
33.(3) | 34.(4)| 35.(4)| 36.(3
37.(2) | 38.(1)| 39.(1)| 40.2
41.(1) | 42.(1)| 43.(1)| 44.(3

| 45.(3)| 46.(4)| 47.(3)| 48.(4)

| 49.(2)| 50.(2)| 51.(1)| 52.(3
53.(3) | 54.(3)| 55.(2)| 56.(2)

| 57.(2)| 58.(2)| 59.13)| 60.2

| 8l.

(1)} 62.(4)| 63.(3)| 64.(1)

| 65.(4 | 66.(1)| 67.(1)| 68.(2
| 69.(4)| 70.(2)| 71.(4)| 72.4)
| 73.(2) 74.(1)| 75.(4)| 76.3)
77.(3) | 78.(2) 79.(1)| 80.(3)
81.(1)| 82.(2)| 83.(1)| 84.(2)
85.(4) | 86.(3)| 87.(2)| 88.(2)

89,

(4)] 90.(4)| 91.(1)| 92.2)

93.

] 94.4)| 95.(3)| 96.(2)

97.

@] 98.2)| 99.(1)| 100.(3)

101.

(3) |102. (1) | 103. (1) | 104. (4)

105.

(1) |106. (4) | 107. (3) | 108. (3)

109,

@ [110. @) | 111. @ | 112. (1)

113.

2 [114.@) [ 115. (D | 116.(1)

117,

(1) |118. (1) | 119. (4) | 120.(3)

121.

(1) |122.(1) | 123. (1) | 124.(3)

125.

(1) |126. (2) | 127. (4) | 128.(1)

129.

(2) [130. (3) | 131. (4) | 132.(3)

133.

(2) |1134. (1) | 135. (1) | 136. (2)

137.

(2) [138.(4) | 139. (*) | 140.(%

141.

(1) 1142. (4) | 143. (1) | 144.(1)

145.

(1) |146. (4) | 147. (3)

148.

(2) |150. (2)

=] EXPLANATIONS E=

1.

(2) In November, 2018, the
Governor Satya Pal Malik or-
dered dissolution of the Leg-
islative Assembly amid the
conflicting claims by PDP-led
grand alliance and BJP-backed
Sajad Gani Lone to form next
government in the state. It
was for the fifth time when
the Governor dissolved the
Assembly. Since 1977, the As-
sembly had been dissolved
three times by the Governors

148. (2) |

of and once by National Con-
ference president Farooq Ab-
dullah-led government.

2. (2) The aorta is the main and

largest artery in the human
body, originating from the left
ventricle of the heart and ex-
tending down to the abdomen,
where it splits into two smaller
arteries. The aorta distributes
oxygenated blood to all parts
of the body through the sys-
temic circulation.

3. (2) Galvanizing is a process |

for making a coating of zinc
over iron or steels for rust
proofing. Hot-dip galvanizing
deposits a thick, robust layer
of zinc iron alloys on the sur-
face of a steel item.

4. (3) C60 is a molecule that con-

sists of 60 carbon atoms, ar-
ranged as 12 pentagons and
20 hexagons. 1he C60 mole-
cule was narr .d buck ninster-
fullerene after the American
architect R. Buckminster
Fuller, whose geodesic dome is
constructed on the same strue-
tural principles. The elongat-
ed cousins of buckyballs, car-
bon nanotubes, were identified
in 1991 by lijima Sumio of
Japan.

5. (4) Anthracite is a high-rank

coal, representing a coal that
has been subjected to the high-
est grade of metamorphism.
Anthracite is shiny black, hard

and brittle and has the high-.

est fixed-carbon content (ap-
proximately 86-98%). Due to
its low volatile matter (2-
12%), anthracite's combustion
process is slow.

6. (2) Condensation polymers are

any kind of polymers formed
through a condensation reac-
tion—where molecules join to-
gether—losing small mole-
cules as by-products such as
water or methanol, as opposed
to addition polymers which
involve the reaction of unsat-
urated monomers. Types of
condensation polymers in-
clude polyamides, polyacetals
and polyesters. '

e Monomers can be joined to-
gether by addition, in which

T

10.

11.

all the atoms in the monomer
are present in the polymer. Ad-
dition polymers include poly-
ethylene, polypropylene, Te-
flon, Lucite, and rubber etc.

(4) IT-Kanpur has set up its
new office in New York with its
alumnus Sanjeev Khosla de-
signed as the overseas brand
ambassador with an objective
to search of qualified and ex-
perience faculty abroad. This,
new office will help in connect-
ing foreign faculty with IIT-K.

. (1) According to Uttar Pradesh

Police Recruitment and Pro-
motion Board to clear the
physical test, all the male can-
didates will need to complete
4.8 km running in 25 minutes.
Female candidates will have 14
minutes to complete 2.4 km.

. (3) Ram Naik was designated

as the Governor of Uttar
Pradesh by President of India
on 14th July 2014. Subse-
quently he also held the addi-
tional charge of Governor of
Rajasthan for a brief period
from 8th Auggust 2014 to 3rd
Sept. 2014. He was felicited
with ‘National Eminence
Award’ in Mumbai on 13th
December, 2014

(4) Moradabad was established
in AD 1625 by Rustam Khan
and is named after prince
Murad Baksh, the youngest son
of the Mughal Emperor Shah -
Jahan and Empress Mumtaz
Mahal. The city is known as
Pital Nagri for its famous brass
handicrafts industry.

(2) When Shah Jahan fell ill
in 1657, his four sons—Dara
Shikoh, Shah Shuja?, Au-
rangzeb, and Murad Bakhsh
fought for power: Shuja, the
second son who had quickly
set himself up as the indepen-
dent governor of Bengal was
defeated at Bahadurpur, by
Dara’s son Sulayman Shikoh,
Shikoh was later captured and
executed by his uncle Aurang-
zeb, who in June 1658 impris-
oned Shah Jahan and a
month later crowned himself
CIMpETor.
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12. (2) Firozabad is also known as

the City of Glass specially ban-
gles and so called Suhag Na-
gari. he name Firozabad was
‘given in the regime of Akbar
by Firoz Shah Mansab Dar in
1566.

-13. (1) The Lucknow style empha-

sizes acting while Jaipur style
emphasizes the dance and
footwork. Traditionally, the
Jaipur gharana has had a
strong spiritual flavor, cover-
ing a diverse range of ideas in
Vaishnavism and Shaivism.
The Jaipur gharana traces its
origins to Bhanuji, a famed
Shiva Tandava dancer who
upon visiting Vrindavan was
inspired and taught Natvari
Nritya.

14. (4) Ancient Sanskrit-language

epics, such as the Ramayana
and the Mahabharata men-
tion a legendary city called Ay-
odhya, which was the capital
of the legendary Ikshvaku
kings of Kosala, including
Rama.

15. (2) The Sveriges Riksbank

Prize in Economic Sciences in
Memory of Alfred Nobel 1998
was awarded to Amartya Sen
“for his contributions to wel-
fare economics.” He was
awarded Bharat Ratna in
1999 for his work in welfare
economics. In 2017, Sen was
awarded the Johan Skytte
Prize in Political Science for
most valuable contribution to
Political Science !

16. (2) Mary Kom is the only wom-

an to become World Amateur
Boxing champion for a record

six times, and the only wom- |

an boxer to have won a medal
in each one of the seven world
championships. Her autobiog-
raphy, Unbreakable, was co-
authored by Dina Serto and
published by Harper Collins
in late 2013.

. 17. (1) At the 65th National Film

Awards, Best Popular Film
Providing Wholesome Enter-
tainment award was given to
‘Baahubali 2'. Baahubali 2 :
The Conclusion is a 2017 In-
dian epic action film directed

18.

19.

20.

21.

22.

by S. S. Rajamouli and writ-
ten by his father K. V. Vijay-
endra Prasad. It won three Na-
tional Film Awards: Best Pop-
ular Film Providing Whole-
some Entertainment, Best
Special Effects and Best
Stunt Choreographer.

(1) The Sveriges Riksbank
Prize in Economic Sciences in
Memory of Alfred Nobel 2018
was divided equally between
William D. Nordhaus ‘for in-
tegrating climate change into
long-run macroeconomic
analysis’ and Paul M. Romer
‘for integrating technological
innovations into long-run
macro economic analysis.’
Both of them belonged to the
United States of America.
Worth 9 million Swedish
crowns (81 million), the eco-
nomics prize was established
in 1968. It was not part of the
original group of five awards
set out in Swedish industri-
alist Alfred Nobel's 1895 will.

(4) Phishing is a cybercrime in |

which a target or targets are
contacted by email, telephone

or text message by someone

posing as a legitimate insti- |

tution to lure individuals into
providing sensitive data such

as personally identifiable in- |

formation, banking and cred-

it card details, and passwords. |

(3) The Chitrakote Falls is a
natural waterfall located to
the west of Jagdalpur, in
Bastar district in Chhattis-
garh on the Indravati River.
Because of its width and wide
spread- during the monsoon
ceason, it is often called the
Niagara Falls of India.

(4) Venezuela is a country on
the northern coast of South
America, consisting of a con-
tinental landmass and a large
number of small islands and
islets in the Caribbean Sea.
The capital and largest urban
agglomeration is the city of
Caracas. :

(4) Thorium is estimated to be
about three to four times more
abundant than uranium in the
Earth’s crust, and is chiefly

 UcSE-122 |

23.

24.

25.

26.

27.

refined from monazite sands.
Monazite contains 2.5% tho-
rium. India has the largest de-
posits of monazite in the
world. The richest monazite
deposits in the world occur in
Kollam and Palakkad districts
of Kerala, Mahanadi river del-
ta in Odisha and near Visha-

khapatnam in Andhra
Pradesh.
{3) Tasmania is Australia’s

most southern, and only is-
land state. It is separated
from mainland Australia by a
240 kilometer stretch of wa-
ter called Bass Strait. Tasma-
nia is in fact geographically
closer to Antarctica than it is
to parts of the northern Aus-
tralian mainland. It lies at
similar latitudes to the South
Island of New Zealand, and
parts of Patagonia in South
America. ;

(2) Godavari River originates
from Trimbak and then flows
in the east across the Deccan
Plateau traversing through the
Trimbakeshwar, Nashik, Ko-
pargaon, Paithan, Nanded,
Rajahmundry, Adilabad and
Bhadrachalam. In Nizamabad
district of Andhra Pradesh,
there is a multipurpose project
on the Godavari, which is
called the Sriramsagar
Project. Godavari empties
into the Bay of Bengal near
Narasapuram in West Goda-

vari distriet of Andhra
Pradesh.
(3) Gyani Zail Singh was the

seventh President of India
serving from 1982 to 1987. He
was the first Sikh to hold this

position.
(3) Bindusara was the son of
Chandragupta Maurya,

founder of the Mauryan Em-
pire. Some Greek writers also
refer to him as Amitrochates
(in Greek) or Amitfa-ghata
(Sanskrit for “slayer of ene-
mies”). Bindusara practised
Ajivika, a religion preached ini-
tially by Makkhail Gosala.

(4) Mekhela Sadeor is the in-
digenous traditional Assamese
dress. The top portion ‘of the
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28.

29,

30.

31,

32.

two-piece dress, called the
chador is a long length of cloth
that has one end tucked into
the upper portion of the
mekhela and the rest draped
over and around the rest of the
body. The bottom portion,
draped from the waist down-
wards, is called the mekhela,
(4} Rabindranath Tagore is the
only known person to have
written the national anthems
for two different countries. He
wrote Jana Gana Mana, the
national anthem for India,
and Amar Sonar Bangla, the
national anthem for Bang-
ladesh. In 1913, he became
the first Indian to win the
Nobel Prize in Literature.

(1) Verghese Kurien institut-
ed Operation Flood, also
known as the “white revolu-
tion,” a long-range program
with the objective of increas-
ing milk production while both
augmenting rural incomes and
keeping prices within reach
for consumers through the ex-
pansion of the cooperative
movement. In 1965, Prime
Minister Lal Bahadur Shastri
named him the Chairman of
the National Dairy Develop-
ment Board (NDDB).

(3] World's lengthiest written-

constitution had 395 articles
in 22 parts and 8 schedules at
the time of commencement.
Now Constitution of India has
448 articles in 25 parts and
12 schedules.

(4) Shalimar Bagh is a Mughal
garden in Srinagar. It was
built by Mughal Emperor Ja-
hangir for his wife Nur Jah-
an, in 1619.

(1) The Sawai Gandharva
Bhimsen Mahotsav is an an-
nual Indian Classical music
festival held in Pune since
1953. The festival is hosted by
the Arya Sangeet Prasarak
Mandal (ASPM) and initiated
by Bhimsen Joshi as a memo-
rial music conference com-
memorating the life and work
of Joshi's guru, Sawai
Gandharva, the festival's
namesake.

33.

35.

36.

37.

38.

(3) Allahabad Bank, the Old-
est Joint Stock Bank of the
Country, was founded in 1865
by a group of Europeans at Al-
lahabad. In 1969, Allahabad
Bank was nationalized along
with 13 other banks. In 1989,
United Industrial Bank Ltd.
merged with Allahabad Bank.

. (4} The Vedic Civilization

flourished between the 1500
BC and 500 BC on the Indo-
Gangetic Plains of the Indian
subcontinent. It flourished
along the river Saraswati, in
a region that now consists of
the modern Indian states of
Haryana and Punjab.

(4) The International Mone-
tary Fund (IMF) is an inter-
national organization head-
quartered in Washington,
D.C. to foster global monetary
cooperation, secure financial
stability, facilitate interna-
tional trade, promote high em-
ployment and sustainable eco-
nomic growth, and reduce pov-
erty around the world. Formed
in 1944 at the Bretton Woods
Conference primarily by the
ideas of Harry Dexter White
and John Maynard Keynes, it
came into formal existence in
1945,

(3) Vande Bharat Express, also
known as Train 18, is an In-
dian semi-high speed intercity
electric multiple unit. It was
designed and built by Integral
Coach Factory (ICF) Chennai
under the Indian govern-
ment's Make in India initia-
tive over a span of 18 months.
{2) Russia’'s state-run arms
exporter Rosoboronexport and
India’s Goa Shipyard Limited
(GSL) signed a $500 million
contract to build the Grigor-
ovich-class ‘Project 1135.6
frigates with technology trans-
fer from Russia.

(1) The Sardar Vallabhbhai Pa-
tel National Police Academy
(SVPNPA), trains officers of the
Indian Police Service, who
have been selected through an
All India based Civil Services
Examination. The IPS cadre is
controlled by the Home Min-

39.

40.

41.

100 ~ 1600

istry of the Government of In-
dia and the officer of this ser-
vice can only be appointed re-
moved by an order of the Pres-
ident of India. The academy
is in Hyderabad, Telangana.
(1) Let the rate of interest be
R% per annum and princi-
pal be Rs. P. :

T
A=pP (1+iJ (0

100
2
R
A = T+— ...
1600 P[ +100J @
R
=P [1+— i
apd 1680 P( 100] ...(t)
By equation (i) (1], we have
1680 R
—_— =]
1600 llOO
R 1680 80 1
1= 7600 " 20

= R=%x 100 = 5% per annum

For third year, principal
=Rs. 1600

Interest = 1680 - 1600
=Rs. 80

Interest x 100

- Rate = principal x Time

80x%100 i
= 1600x1 = 5% per annum

(2) Rate of interest = 4% per
annum

= 2% per half year

Time = 2 half years

- Amount

9 2
= L=
25000 ( +100J

= 25000x 2 , 102
100 ~ 100
= Rs. 26010

(1) Period of investment by B
= x months (let)
According to the question,
75000x12 3

37500xx 1

=3 375 x 3x= 750 x 12

UCSE-123
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ZORXIA. 8 months

375%x3

». Required answer = 12 - 8
= 4 months
(1) Difference of marks

=88 -68=20
Total increase = 20 x 0.5
=10
~. Number of students = 10
(1) Time taken by C
= 30 days
B is thrice as efficient as B.
~. Time taken by B

= X=

42.

43.

30
— ——:IOd
5 ays
- Time taken by A
10
- —~ =5da
2 o
~ (A+B+C)’s 1day’s work
1 1 1
W — _+_.
5 10 30
6+3+1 _10 1
v 30 30 3

. Required time = 3 days
44.(3)Distance covered by
aeroplane in 4 hours.

= Speed x Time
=250 x 4 = 1000 km

Case II,

Time = 1 hour 40 minutes

DB
o5 ours

Distance = 1000 km.
~ Required speed

1000x3
= [—T‘—) kmph.
= 600 kmph
45. (3) Period of stoppage

Relative speed

— X 60 mi
Faster speed minutes

(45—36

X 60 i
25 ) minutes

9
= | —x60 i
[ 45 ] minutes

= 12 minutes
46. (4)Length of rectangle
= 5x cm.
Breadth = 6x cm.
.. Bx x 6x = 6750

47.

48.

49,

50.

51.

52.

6750
@ =g =225

nox= J295=15

. Required ratio

_ bx _ 5x15 1

= 6750 6750 90

(3) Smallest 4-digit number
= 1000

Smallest 4-digit number di-
visible by 11 = 1001
Smallest 4-digit number di-
visible by 13 = 1001

~. Required product = (1 + 1)
1+1)=2x%x2=4

(4) Smallest 3-digit number
divisible by 13 = 104
104=16%x6+8

.. Required remainder = 8

=

(2)
8 | 6561 |81
8|64
161 | 161
1 (161
162 | x
©. 65661 =81
J81=9
-. Required answer
81 _
-9
(2) Case [,
Radius = 1} units
Case II,
Radius =1, = 2r, units
. Required answer
.n:(2r1)2 _ 4an?
= m,lz - 2
= 4 times
(1) Required balance
= Rs. (86.54 + 55.31-84.33)
Rs. 57.52
(3)LCM of 7, 11 and 13

=7x.11x% 13
= 1001
» Required result

3003 _,

= 1001
_ )
UCSE-124

53. {S]IAccording to the question,

10x +5 ~'§T3_EE§
42x+8‘"[8 T 512
= 5120x +2560 = 5250x +
1000

= 5250x — 5120x = 2560 -
1000

= 130x = 1560

o3 =12x12x 12 = 1728
(3) Required answer

1

= SLAENS el *0

54.

= 160

(2)C.P. = Rs.x

S.P. = Rs.y

Profit = Rs.(y - X

Case II,

Profit =3y-x=5 (y-
= 3y - x = By- bx

= bx-x=5y-3y

= 4x =2y

=y=2x

55.

X
- Profit per cent = X 100

= 100%

(2) Actual C.P. of scooter

= Rs. (42000 + 6000)

= Rs. 48000

Profit = Rs. (54000-48000)
= Rs. 6000

.. Profit per cent

6000
= 18000 x100 = 12.5%
(2) Discount
= Rs. (110 - 104.5)
=Rs. b.b
- Discount per cent
_ 55x100 _ '

110

(2) There is no ‘U’ letter in the
given word. Therefore, the word
BOUT cannot be formed.

F[LAMBOYANT = LAMB
F L[A M|B[O] Y A[N] T = MOAN

56.

57.

58.

F L A M[B_O]Y[AIN[T]= BOAT

| RN T
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59.

60.

61.

G62.

(3)

19 8
S H A D E

1 18 20
A R T
1 18 7 B
A R G E

23
W

12 12 15
L L O

mr OQw T
—~© Mo mo

(2) The young one of Deer is
Fawn. Similarly, the young one
of Horse is Foal. Here, “Animal-
Young One” relationship has
been shown

(1) Run is of higher intensity
than walk. Run means “to
move at a speed faster than a
walk.”

Similarly, Heavy rain is more
intense than Drizzle.

@

E H—»V S

I 'TT

. Pairs of opposite letters.

63.

64.

65.

66.

Similary,
M J—>N @

| t '[

(3) Lock, Block, Fasten and
Shut deny access to some-

_thing. These are used to pro-

tect something.

(1)

1=1

2x2=4

33 x3=27
4x4x4x4=256
5x5xb5x5x5=3125
4)20+2=22

22 +2=24

24 +2 =26
26+2=28=X

28 +4 =32
32+4=36
36+4=40=Y
X+Y=28+40=68
nii=1 1
11x11=12 : 1
11x11x11=13 31
11x11x11x11=146 41
11x11%x11x11x11
=161 051

67. (1)

G—+'2—>1-—+2-—““‘K—+2—>M—+~2—P0
4 s
x +2 7 +2 B+2 D + F

68. (2)

25

1—p4———F 9—F 16—

L 13 l 1 i
(1 @r (&3 4y )
€ B g D, TR R—+£—> w
69. (4)

5
PG TR k= E- ey sz

70. (2)
] —{c]

g

North East

(4}

North
rF s

North West

+»East

Weste—

South West South East

South

B's house is in South-east of

D’'s house.
71. (4)

o

= O+

(UCSE-125 |
UCSE-125
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436 + 64
J100

= 10 metre

Village A is in South-West
of Village D.
73. (2)

Starting Point

15 m 15m

B Y »C
15 m

AD = 15 metre

D is in east direction of A.
(1) Only Conclusion I follows.
No country is absolutely self-
dependent these days. There-
fore, it can be assumed that
no country can grow and pro-
duce what it needs.
(4) If new big industries be es-
tablished in Delhi, it would be
advantageous in opening more
employment opportunities.
But it is disadvantageous in
that it adds to the pollution.
Therefore, either [ or II argu—
ment is strong. ;
(3) Only Conclusion III follows.
It is clearly mentioned that if
a building has more than three
floors, it has a lift. Therefore,
Conclusions I and II do not fol-
low.
(3) Except figure (3), in all oth-
er figures same letters have
been used. In figure (3), there
is “I” in the place of T,

74.

75.

76.

77.

| aiREeiRy )
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78. (2) The second is loaded in the
first. Bullets are loaded in a
Gun. Similarly, Batteries are

83. (1) After folding the figure :

ak

lies opposite

|

loaded in Torch. &

79. (1) (B =5x5x5=125 ——l
Similarly, lies opposite | O
(11)4=11x11x11x11
= 14641 a8 ] ‘

o | lies opposite 3 |
g |
80. (3) |
%Z cannot be on the face |
%3
81. (1) |I=N E:: adjacent to [JT.1- Therefore, |
the cube given in the option E
I (1) cannot be made. |
82. (2) L .
i
(84 -86) : 5
‘ _ |
CONDITIONS |
Candidate - ]
(a) (Blor (1) - | (© (D) or (2) (E) or (3)
A / 1/ e 4 / = ‘/ -
B NG v - v = v NG =
C v v = i < v | ne | - |
84. (2) A does not satisfy condition

(C). Therefore, he cannot be
made a judge.

(4) There is no information re-
garding conditions (A) and (E).
(3) C satisfies all the conditions
except (E). Therefore, her ap-
plication will be kept on hold.
(2) In each subsequent figure
the rectangle moves one step
in anticlockwise direction and
the diagonal changes its direc-
tion. The circle rotates 90°
anticlockwise and moves up
and down after every two fig-
ures.

85.

86.

87.

88. (2) The following changes oc-
cur in the subsequent figures :
(1) to (2) (2] to (3) (3) to (4)
» oN )
\@N / | l
[CF ot ] L ld—-- (9'\-.—>®
®
The design which disappears in
the previous figure appears in
the next figure.

1t is clear that minimum 13

lines are required.

90. (4)

v
OARO

4 M
91. (1) (@ v
0NV o

—{ UCSE-126

92. (2) Arrangement of words as
per dictionary order:
Refinery

y

Reflector

!

Reflexes

!

Refocus
93. (1) The next word starts. with
the last two letters of the pre-
vious word.
Terrain
Intuitive
Venture
Rearrange
Gender
94. (4)

z— ,'l_hy_"l_.. X—MI—FW—_L—fV—-:'l—'—D' u

B +2 +2 F +2 H +2 J +2 i

5‘_:2_’0_*2___. E....t.‘z—pﬁ_ig.'_—.pl._"‘z__p K

95. (3) In each next term one E
shifts to the right and one F
shifts to the left.

[E|JEEEEF F F F[F|
F[E|JE EE F F F[F|E
FF[E|EE F F[F|EE
FFF[EEF[EEEE
FFFF[E[FJEE E E

FFFFFEEEEE
. (2)-45+1.9=-2.6
-26+1.9=-07
-0.7+1.9=1.2
1.2+1.9=3.1
. (3)30-6=24
4th = Sunday
Other Sundays = 11th, 18th
and 25th
s 24 = Saturday
. (2) In each term pair of oppo-
site letters is given.

AZ:; Next term, Z _.__:.Z_px

The opposite letter of X is C.

Next term, C ___+_2_+ E

The opposite letter of E is V.

Next term, v -2 » T

The opposite letter of T is G.

Next term, G ___"'2_,, I

The opposite letter of I is R.
In each term there are two
numbers.

o EOERReTl
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First. numbeér series
1—»3—>»1x3=3—»3x3
=0—p 3x9=27
Second number series
1—3—+1+3=4—p 3+4
=7 —>»4+7=11
Therefore, ? =127 R 11
29. (1)

s
8 2)

®

thread

@

cotton
@ :
soft cotton cloth
. soft= 3
100. (3)
S L O B
¥l el
4 3 7 9
F 7 N E
S R
2 6 8 5
Therefore,
L. O F..T
I
3 7 2 8
+ =3 X —-=+
101. (3) I sl

16 +8x4-2+1=2°

=?=16-8+4+2x1

=7=16-2+2

=7=18-2=16
102.(1)

= | !

Therefore,
S UM——»P R J

_3*

103. (1)
X#Y —3 Xis brother Y
X@Z —p Yis son of Z.
Z*W — » Zis mother of W.
Xand Y are sons of Z.
W is daughter of Z.
Z is mother of W, X and Y.
W is sister of X and Y.
104. (4) Option (1)
P*Q — Pis daughter of Q.
Q% R —p Q is father of R,
R!S —p Ris sister of S.
P is the sister of R who is the
sister of S.
Option (2)
P % Q—» P is father of Q.
Q! R —p @ is sister of R.
R*S —» Ris daughter of S.
P is husband of S. .
Option (3)
P*Q —» Pis daughter of Q.
Thus, P cannot be a male.
Option (4)
P % Q —» P is father of Q.
Q *R —p Qis daughter of R.
R!S —p Ris sister of S.
P is the husband of R.
105 (1) Son-in-law of K’'s husband
means son-in-law of K also.
The daughter of son-in-law
would be granddaughter.
Therefore, L is the grand-
daughter of K.
(4) Indians who are democrats
can be represented by letters com-
mon to the circle and the square.
Such letters are C and B.
(3) Triangle is different from
hexagon. But both are geomet-
rical figures.

106.

107.

Geometrical
Figures

Hexagons|

108. (3} In two months, she gained
weight.
2nd to 3rd month = 87 kg to
89 kg
4th to b5th month = 78 kg to
82kg

109. (3) Number of visitors on
Thursday = 500

UCSE-127

Number of visitors on Satur-
day =200

Difference = 500 — 200 = 300
Required percentage

EQQ_ 100 = 60%
500x 0%

(3) Drilling time for Item A
12x 25

100

= 180 minutes
Drilling time for Item B

110.

= 3 hours

33
=900 x 100 = 297 minutes

=4 hours 57 minutes = 5 hours
Difference = (297 - 180) = 117
minutes

Required percentage

- }'EX].OO

297
=39.39%
5—

5-3
Required % = %100

=40%

- (2) Sleep is different from the
others. All others involve
movement.

M E—po s

1 '—"_I_’H __.:.I;._’.G
s —_l—bR—;le
But, i

L "‘L’K _+'2""+M

(2) Except figure (2), in all oth-
er figures, there for four (])and
five 5. In figure (2) there are
four ¢ and five (D-
114.(3) 5t ¥ Wa o wdT® @7
. fovtuar sa € <2 favom e §)
@ T oI § s wdamer
-3 e T I TR
TuEreE favioer & TS
fodor =t <wta &)
115.(1) ‘wd’ =1 o # ‘wa’ @ik
1 3 & TR w1 it am st
‘W'l 39 TR GEA g & oared
- W H W A W 9E R
A F TE T R T, T
HE HT TH B, AU B GHA B
T FEer gl

111

112.

113.

(Whicciininis = el
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116. (1) 7oA =rea gfeany fa<t wfe
& VE wfa, weEs, feER,
FEMGR 991 STEFN ¢ 36!
@ T, S e e, -l
W gd, T WS % gred
e Y # awargrruﬂaﬁnmﬁ
F = B

117. (1) gesftost v fewdt s+ feran
T TF TE €, faed gestow
IR & Wad @R SRE & v
o T €1 Sueh Tt HeeREE B

118.(1) “wend v’ & oEw oy
N % OemE el e
o'

119. (4) v TF fet st =1
AR F e S aren Getew @9
2 o wEE R e
w T fon wE W & fan
W B fe e wfied e
ASAH WETHR Hi IS THA
T T et ©) 9 w1,
11, 111 T99 &1 ¥, w9 o=
TS it Foe onfE w2 e o €

120. (3) wmiSe-Hiwsfae it anfds
eI | weeld & HRW SfEd %
fafamr &= o eos Al % i
IR TE B o

121.(1) = ¥ § W 9Eies
T it swid O T A sE &
w0 # g w9 i T
Y q@H & AU wREER gEd
o1 1 o et o ¥ el e @
wid & guE o9 W W

122. (1) 9= Sierre | 3956 o o7
% ™ W TH A AR %
T o faul sued sifafe @i
T GRER aEd o 5 R erdemRd
6 ¥ 9l iR wer A 2

123. (1) "REe & HUF &1 T I
oy =afem oo wife wiise
% STEY w2

124.(3) &1 ®9 4 a0 ol 39 d=
TR % B o- @i, frem iR
e

125, (1) f&n T 33 FIH HAEHR

W T U U 1 i a-eR
& ¥ o el & v 7 st
gwau%‘rameﬁrmwwam
|

126. (2) & T 9 ‘T & S
T 1 W S 1T § iR
ST ST IS TR AT A o |
EHL TAH] T 9 %I
v ¥ wad €, 3 ORR Sees
T FEw 2

127. (4) ST e YA g€ ST
B F LG A W UiEdd amen
fasre ‘‘gag gE e BAm

128. (1) 98 TF TIFE % §1 395 v
=0 H 15 SR 13 & AfG § T 28
e 2

129. (2) feu o qerer %1 272 e e
BT &1 2 9T = Tl @

130. (3) @ f&H & § RS-
3 S, frers, Form o S vt
&1 U B ¢ ° 9%l SR W e
2| TE T TER FH B B
1. TE S
2. T TR

131. (4) TFn & 39 TR F FHI
FEd €, fow o § %4 &1 gama

%1 4@y B R T oaeE W W

Frara T St ™ g w® 2
Zm

132. (3) At fftsa geEms favhm
& < TR UF Y Wg @ a1 I
& e A fae (-) e g

- T T wE- g T H

%n

133.(2) f99 wAw-9T &1 4dUg
weTarEE fagwe g, 9% 57 9w
FEA | - gefdy- T g
F G

134[1)@%@%@@&@'

‘T TR FOE- STHER B A
ATl B

135. (1) feu v famwedl o srel wsg
Fah @ foame - @, ugu
B &l

136.(2) ‘S A e 2 @Iy |
ROl FREF B OEA HF fam
=9 | fiF & NUR S99 SR TR
F 9 B ¢ I¥ AR SR
FEd 1 SHS! fanfe fas (F, ™)
&

137. (2) vfasa w1 1 o fean 9 e
gfea @ f& fra afess & s
I R BN, 99 W qEed
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F9 Fed ¢ R o oA §
ST, WIE @

138. (4) T4 SR TH &1 §1 78 I8
A T w2 S W R e
igel & W9 ¥ o fwar Wy
T Fearl B1 S : 1 SER T
o &, # ve =wed g1 1 9 A
TH + T+ € T Ue + =R
+ B3 ueft Hyw el o Seem
& .

139. () JENd v & 3fa # R S
qfeelt @ AT s e S
S ;79 - B, =R - SR,
S - W, WO~ W

140. (*) T3 gfeem wesi & 3fq A '\
Shgat Sifean w9 s 9% ¢

W gmR - g
PR - TR
et - wifew el

WA H wueR # o, (g @
Tqe ‘ST’ I W wE e

141. (1) fom =ifen 7= & 2| | ‘=
T IOF W WA W Qe
TR o W & S fafean, fafed
gfea-gfear, gea-gfeat anf)

142. (4) 'FI0' = g0 w90 gi-foaes
FUM=TF + T+ T+ A+ + 3

143.(1) & T fawed F o ¥
T A IR B

144. (1) f5u 70 w1 gfaen w1 A
W e Bl B

145. (1) TR & TE guH E-ume
AH, W, IU, A B

146. (4) sl W & W e
S ToIg TS % ofd H o &
‘foamE’ $a 9@ ° 9T 90
IFaTeh G T SR 2

147.(3) T&E FT WA I F A< T
2 & S-S § T e &
WA g B

148.(2) @ =1 faeim e e ¢

149.(2) f<g U v= @1 wad 3fw
e e ER-faEr ! g
TE ET UOE H I T T
e H 7% 99H 2N 2

150. (2) §fa 9§ 75 &1 70 ¥ | U
& whYy foede € - Ty -
A+ AfEFE 3+ @ =) WwWD
T #1 S B ooo

2 e it



